《 大学英语1》复习题A
一、 选择题
1. ---Have you heard the latest news?  ---No, What ________?
    A. is it          B. is there            C. are they        D. are those
2. Some pre-school children go to a day care center, __________ they learn simple games and songs.
    A. then          B. there              C. while         D. where
3. Does this meal cost $50? I __________ something far better than this!
    A. prefer       B. expect       C. suggest        D. suppose
4. ---Can you read the sign, sir? No smoking allowed in the lift!  ---__________________.
     A. Never mind     B. Don’t mention it        C. Sure, I don’t smoke             D. Pardon me
5．---The last one __________________ pays the meal.

---Agreed!

A．arrived          B．arrives                 C．to arrive         D．arriving

6．---How’s your tour around the North Lake? Is it beautiful?

---It ________ be, but it is now heavily polluted.

A．will              B．would              C．should                D．must

7．We all know that, __________, the situation will get worse.

A．not if dealt carefully with                      B．if not carefully dealt with

C．if dealt not carefully with                      D．not if carefully dealt with

8．I smell something __________ in the kitchen. Can I call you back in a minute?

A．burning                     B．burnt             C．being burnt              D．to be burnt

9．Between the two generations, it is often not their age, _________ their education that causes misunderstanding.

A．like                       B．as                       C．or                        D．but

10．The manager suggested an earlier date ____________ the meeting.

A．on                         B．for                     C．about                  D．with

二、　完形填空

阅读下面短文，从短文后所给各题的四个选项（A、B、C和D）中，选出可以填入空白处的最佳选项，并在答题卡上将该项涂黑。

In the United States there was an unusual tale telling of the daughter of a mechanic （技工）. One day while walking along the bank of a lake, the girl  11   to see 20 eggs laid by a wild goose. After some time the girl   12  the mother would not return to her eggs and she   13  to take them home. There she carefully   14  the eggs in the heat of a lamp. Several days   15   the eggs broke and the baby geese came into the   16 .

Geese are known to take the first living thing they see as their mother.  17  , to these young geese, the girl was their mother.

As they   18, the girl was able to  19  her birds to run across the grass, but she could not teach them to   20  . The girl became increasingly worried about this, both when   21  and in her dreams. Later, she had an   22  : She would pilot a plane to guide them in   23 . She asked her father for a plane and he assembled（组装）a small aircraft for her.

Caring about   24   safety, the father decided to pilot the plane himself. However, the birds did not  25   or follow him, and   26  slept in the grass.

One day, the girl   27   into the plane, started it and soon left the   28. Seeing their mother take to the air, the birds   29  flapped（拍打）their wings and   30  . She flew the plane freely in the sky, her young birds following.

11．A．managed           B．attempted            C．happened       D．supposed

12．A．realized            B．expected              C．imagined       D．admitted

13．A．helped              B．decided               C．afforded         D．meant

14．A．placed             B．protected              C．treated           D．examined

15．A．ago                 B．out                         C．later              D．long

16．A．family            B．lake                        C．home            D．world

17．A．But                 B．Also                      C．Thus              D．Still

18．A．increased        B．improved              C．rose               D．grew

19．A．ask                B．lead                        C．want              D．allow

20．A．fly                 B．race                        C．swim             D．sing

21．A．asleep            B．away                     C．around           D．awake

22．A．idea              B．opinion                  C．explanation    D．excuse

23．A．sky               B．heaven                   C．flight              D．plane

24．A．his               B．her                          C．their               D．its

25．A．respect         B．remember               C．recognize      D．receive

26．A．so                 B．instead                  C．hardly             D．too

27．A．climbed       B．looked                   C．reached          D．fell

28．A．house           B．floor                      C．water             D．ground

29．A．secretly         B．disappointedly      C．patiently        D．eagerly

30．A．looked away  B．set out                  C．went by          D．turned back

三、阅读理解

阅读下列短文，从每题所给的四个选项（A、B、C和D）中，选出最佳选项，并在答题卡上将该项涂黑。

Passage A 

        It was a winter morning, just a couple of weeks before Christmas 2005. While most people were warming up their cars, Trevor, my husband, had to get up early to ride his bike four kilometers away from home to work. On arrival, he parked his bike outside the back door as he usually does. After putting in 10 hours of labor, he returned to find his bike gone.

The bike, a black Kona 18 speed, was our only transport. Trevor used it to get to work, putting in 60-hour weeks to support his young family. And the bike was also used to get groceries（食品杂货），saving us from having to walk long distances from where we live.

I was so sad that someone would steal our bike that I wrote to the newspaper and told them our story. Shortly after that, several people in our area offered to help. One wonderful stranger even bought a bike, then called my husband to pick it up. Once again my husband had a way to get to and from his job. It really is an honor that a complete stranger would go out of their way for someone they have never met before.

People say that a smile can be passed from one person to another, but acts of kindness from strangers are even more so. This experience has had a spreading effect in our lives because it strengthened our faith in humanity（人性）as a whole. And it has influenced（影响）us to be more mindful of ways we, too, can share with others. No matter how big or how small, an act of kindness shows that someone cares. And the results can be everlasting.

31．Why was the bike so important to the couple?

A．The man’s job was bike racing                        B．It was their only possession.

C．It was a nice Kona 18 speed.                              D．They used it for work and daily life.

32．We can infer from the text that ____________.

A．the couple worked 60 hours a week.                 B．people were busy before Christmas

C．the stranger brought over the bike                     D．life was hard for the young family.

33．How did people get to know the couple’s problem?

A．From radio broadcasts.                    B．From a newspaper.

C．From TV news                                 D．From a stranger.

34．What do the couple learn from their experience?

A．Strangers are usually of little help.

B．One should take care of their bike.

C．News reports make people famous

D．An act of kindness can mean a lot.

Passage B 

Our “Mommy and Me” time began two years ago. My next-door neighbor and fellow mother, Christie, and I were out in our front yards, watching seven children of age 6 and under ride their bikes up and down. “I wish I could take one of my children out alone,” said Christie.

Then we worked out a plan: When Christie takes one of her children out, I’ll watch her other three. And when she watches two of mine, I’ll take someone out.

The children were extremely quick to accept the idea of “Mommy and Me” time. Christie’s daughter, McKenzie, went first. When she returned, the other children showered her with tons of questions. McKenzie was smiling broadly. Christie looked refreshed and happy. “She’s like a different child when there’s no one else around,” Christie shared with me quickly. With her mother all to herself, McKenzie didn’t have to make an effort to gain attention.

Just as Christie had noticed changes in McKenzie, I also discovered something different in each of my children during our alone times. For example, I am always surprised when my daughter, who is seldom close to me, holds my hand frequently. My stuttering（口吃的）son, Tom, doesn’t stutter once during our activities since he doesn’t have to struggle for a chance to speak. And the other son, Sam, who’s always a follower when around other children shines as a leader during our times together.

The “Mommy and Me” time allows us to be simply alone and away with each child ---talking, sharing, and laughing, which has been the biggest gain. Every child deserves（应得到）to be an only child at least once in a while.

35．What is the text mainly about?

A．The experience of the only child being with mother.

B．The advantage of spending time with one child at a time.

C．The happy life of two families.

D．The basic needs of children.

36．Right after McKenzie came back, the other children were _____________.

A．happy       B．curious       C．regretful       D．friendly

37．What is one of the changes the author finds in her children?

A．The daughter acts like a leader.

B．Sam holds her hand more often.

C．The boys become better followers.

D．Tom has less difficulty in speaking.

38．The author seems to believe that ___________.

A．having brothers and sisters is fun

B．it’s tiring to look after three children

C．every child needs parents’ full attention

D．parents should watch others’ children
四、

Directions: Complete each of the following sentences with the proper form of the word derived from the one in brackets.

Example 1: Tom does not have a job. He is _____________. (job)  （每小题2分，20分）
   Answer: jobless
Example 2: It is _____________ to talk with one’s mouth full of food. (polite)

   Answer: impolite 

39. Few people nowadays are able to maintain friendships into ________ (adult).

40. Getting there is the main thing——how we get there is a ________ (second) consideration.

41. New ways to treat arthritis may provide an ________ (alter) to painkillers.

42. The aim of the cruise was to ________ (awake) an interest in and an understanding of foreign cultures.

43. The new test should _______ (able) doctors to detect the disease early.

44. Pamam is the second airline in two months to file for ________ (bankrupt).

45. Earning enough money to keep his family is a high ________ (prior).

46. ________ (employ) is so damaging to both individuals and to communities.

47. Social science is a _________ (collect) name, covering a series of individual sciences.

58. He didn’t want to tell Mr Morrison why he was  ______ (patient) to get home.

《 大学英语1》复习题B
Part I  Reading Comprehension  (40%)

Section A

Directions: There are 3 passages in this section. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A), B), C), and D). You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the center.

Questions 1 to 5 are based on the following passage.

   Trials are taking place in North America and Europe to test an electronic device which will prevent children from watching unsuitable programs on television. 

   The device, known as a V-chip (the “v” stands for violence), allows parents to control their television set so that programs which are unsuitable for children cannot be watched on a particular television.

   The V-chip works by using an electronic code. When a program is broadcast, the signal from the television transmitter carries a code, which indicates the level of sex and/or violence in a particular program. The V-chip inside the television then examines the code for each program and blocks transmission of those programs which contain certain codes. 

   Makers of the V-chip say that parents can be confident that their children will not be able to watch those programs which they decide are unsuitable. 

   V-chip technology has attracted a lot of interest. President Clinton passed a law last year which will require all new televisions to be fitted with V-chips by 1998. And the European Parliament（欧洲议会） has included the V-chip in its new Directive on Broadcasting. 

   But critics say that the system will not be fool-proof, and that children will find ways of getting around it. There are also concerns that foreign satellite television companies may not abide by the rules. Others say that if viewers come to rely on the V-chip, other controls on program content may start to be relaxed. 

1. According to the passage, V-chip technology enables parents to _____________. 

  A) turn off the television when they are not home

  B) keep inappropriate TV programs away from their children 

  C) test electronic devices that can take the place of the TV set

  D) control the amount of time that their children spend on watching TV

2. What do we learn from the passage about the electronic code? 

  A).It is a computer program built in a TV set to examine the V-chip.

  B) It contains information about the television transmitter. 

  C) It is the signal that is sent out by the V-chip. 

  D) It shows the level of sex and/or violence in a particular program 

3. The word “they ” in Paragraph 4 refers to ________________. 

  A) makers  B) children  C) parents  D) programs

4. We can conclude from the passage that ________________________. 

  A) TV sets sold in America after 1998 are required to have V-chips 

  B) a law had been passed to prohibit sex and violence on TV

  C) President Clinton attracted a lot of interest

  D) the European Parliament decided to import the V-chip technology from USA

5. Critics of the V-chip were concerned that ____________________. 

  A) children may not like the new technology

  B) imported TV set may not have been equipped with V-chips

  C) children may get addicted to the new technology

  D) new problems may arise even if the V-chip works

Questions 6 to 10 are based on the following passage.

It is estimated that some seven hundred million people are unable to read and write, and there are probably two hundred and fifty million more whose level of attainment is so slight that it barely qualifies literacy (读写能力).

Recently the attack on illiteracy has been stepped up. A world plan has been drawn up by a committee of UNESCO experts in Paris, as part of the UNESCO Nations Development Decade, and an international conference on the subject has also been held. UNESCO stresses that functional literacy is the aim. People must learn the basic skills of responsible citizenship: the ability to read notices, newspapers, timetables, letters, price-lists, to keep simple records and accounts, to sort out the significance of the information gathered, and to fill in forms.

The major areas of illiteracy are in Asia, Africa, and Central and South America. In Africa there are at least one hundred million illiterates, comprising eighty to eighty-five per cent of the total population. In Europe the figure is about twenty-four million, most of them in Southern Europe, with Spain, Italy, Portugal, and Yugoslavia heading the list (the United Kingdom has about seven hundred thousand).

6. Studying carefully the clues in the passage, we learn that the total population of Africa is        .
  A) approximately eight or eight point five thousand million 

  B) approximately seven hundred million

  C) approximately one hundred and twenty-five million 

  D) exactly twenty-four million

7. The figure of illiteracy in Britain comprises        .
A) zero point one per cent of that of illiteracy in the world

B) zero point two per cent of the world adult population

C) thirty-five per cent of Europe’s population

D) three point five per cent of that of the illiteracy in Southern Europe

8. It is obvious that UNESCO         .
  A) is a company in France

  B) works mainly at combating illiteracy

  C) is a world organization attached to the U. N.

  D) has many experts whose level of attainment is far from literacy

9. A world plan mentioned in the passage aims at        .
  A) enforcing the functions of UNESCO

  B) training responsible citizens 

  C) urging Southern European countries to take the lead in attacking illiteracy

  D) helping illiterates learn how to read and write

10. The author implies that this world plan is to        .
  A) be carried out in the major areas of illiteracy like Africa

  B) be realized in ten years

  C) be drawn up by Parisian experts

  D) be debated at an international conference

Questions 11 to 15 are based on the following passage.

In the course of the late 1930s thousands of workers transformed an old garbage dump in the New York borough of Queens into the 1939-40 New York World’s Fair. For the price of a five-cent subway ride and seventy-five-cent admission fee, some fifty-seven attendees could sample personally “the wonders of contemporary life.”

Since the middle of the nineteenth century, industrial states had held periodic expositions to showcase the goods produced by their nationals and by others. Although London’s Great Exhibition of 1851 had led the way, it was the French who were to produce such international displays of culture and machinery most frequently during the next half-century. American expositions tied the French example to the celebration of key historical anniversaries. The best-remembered example is the Chicago Exposition of 1893, which marked the four hundredth anniversary of Columbus’s arrival—one year late. The New York World’s Fair of 1939 was inspired by the 150th anniversary of the inauguration (就职典礼) of George Washington. 

What took place at these showcases of modern architecture, national pride, and international commercial competition? The 1893 Chicago Fair boasted its entertainment “Midway” as well as scientific exhibits, and visitors to the New York Fair in 1939 may well have been more impressed by the simulated (模拟的) 250-foot parachute jump than by the first speech by a president to be shown on television, or the first color film for home movie cameras. 

11. How much did a ticket to the 1939-40 New York Fair cost?

  A) 5 cents. 

 B) 75 cents. 

C) 57 cents.  D) 80 cents.

12. The word “showcase” in paragraph 2 probably means _______.

  A) display
 B) be put in a case

C) purchase
D) be bought

13. Which nation organized most of the international exhibitions between 1850 and 1900?

  A) Great Britain.  B) The United States.  C) England.   D) France.  

14. We can conclude from the passage that the four hundredth anniversary of Columbus’s arrival should have been celebrated in _______________. 

  A) 1893

B)1892
 C) 1894 

 D) 1895

5. What was one important feature of the 1893 Chicago Exposition?

  A) Entertainment and scientific displays.  B) Historical conference.

  C) Athletic competition.  



D) Presidential speech.
Section B
Directions: In this section there is a short passage with five questions or incomplete statements. Read the passage carefully. Then answer the questions or complete the statements with no more than 10 words. Be sure to write your answers on Answer Sheet (2).

Teen smoking rates have been dropping since 1997, federal health officials report today, but more than a quarter of high school students still smoke cigarettes. 

The Centers for Disease Control and Prevention says roughly 29% of American high school students are smokers, down from 36% in 1997. The finding confirms other studies that show a decline in smoking in this age group. 

The trend is occurring across all race and age groups and in both boys and girls, says Terry Pechacek of the CDC's National Center for Chronic Disease Prevention and Health Promotion. If trends continue, the report says, the national goal to reduce teen smoking rates to 16% or lower by 2010 is achievable. 

Pechacek attributes the decline to a 70% jump in the price of cigarettes from the end of 1997 to May 2001, along with expanded school, state and national smoking-prevention efforts. By 2000, the report says, 92% of the USA's school districts required tobacco-prevention education, and nearly half of middle and senior high schools had no-smoking policies. 

To keep teen smoking rates on a downward path, Pechacek says, cigarette prices should continue to rise and smoking-prevention campaigns should expand. “We’ve got it going in the right direction,” he says, “but we can’t be satisfied with what we have got. If we’re going to continue to decline, we’ve got to continue those efforts.” 

The data being released today are part of the Youth Risk Behavior Survey, a national school-based survey of 14,601 students in grades 9-12 that was conducted in spring 2001.

SAQ 1. This report mainly discusses ____________________. 

SAQ 2. From 1997 to 2001, the smoking rate in America high school students has dropped by _____________ percentage point.

SAQ 3. What did the US want to achieve in fighting teen smoking by the year 2010? 

SAQ 4. The drop in teen smoking rate was a result of _____________________ as well as efforts from various sectors to prevent smoking.

SAQ 5. What should be the next step to reduce teen smoking rate according to Pechacek? 

Part II
 Vocabulary and Structure (35 minutes, 45marks)

Section A

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A), B), C) and D). Choose the one answer that best completes the sentence.

16. I enjoyed being on this course. I learned a lot from teachers and students _________.


A)likewise

B) likely


C) alike


D) liking

17. The meeting _________ take place on Thursday. But we’ve had to postpone it.


A) was delayed to





B) was supposed to




C) was stuck to




    D) was resumed to

18. He spoke Japanese very well. He ________ the language for years.


A) should have studied



B) must study


C) must have studied



D) ought to have studied

19. Prisoners armed with baseball bats used the hostages to keep the policemen _________.


A) at large


B) at bay


C) from behind

D) from inside

20. So Sophia held a high opinion of her own ________ for looking after herself.


A) ability


B) capability  
C) capacity


D) competence

21. He ________ his children nothing and gave them everything they wanted, which

 spoiled the children.

A) disagreed

B) denied


C) declined


D) rejected

22. The new apartment house that was built a few months ago is large enough to _________ 

   over two hundred people.


A) share

B) settle

C) live


D) accommodate 

23. Despite _________, it did a great deal of good work inside the trade union.

A) of mistakes and weaknesses


B) mistakes and weaknesses


C) it had mistakes and weaknesses

D) there were mistakes and weaknesses

24. She isn’t rich; _______ that she will ever be.

A) and I imagine

B) nor do I imagine

C) nor I imagine

D) and do I imagine 

25. It is an almost universal truth _______ the more we are promoted in a job, the less we actually exercise the skills we initially used to perform it. 


A) that


B) which


C) what



D) as

26. Think carefully before you answer his questions. You may be trapped ________ vital information.

A) giving away
B) to give away
C) give away

D) into giving away

27. Marianne was tempted to turn the large rooms into traditional French-style salons, ________ Howard was in favor of a typically English look.


A) when 


B) while


C) where



D) which 

28. The school has very good teachers, but when it comes _______ its buildings, the school is poor.


A) to renovate

B) to renovating
C) for renovating

D) as renovate

39. That book is worth at least $15, but we could let you have it ________ $10.


A) by


B) for



C) at




D) on

30. Though he worked part time after class, his exam results are ________ above average.


A) away



B) way



C) very


D) too

31. Tommy talks about pyramids as though he _________ them himself. 

  A) sees



B) has seen  

C) is seeing



D) had seen

32. Non-gaseous substances which _________ naturally as pure elements, such as gold, are rare and are often highly valued.


A) occur



B) happen


C) perceive


D) assume

33. ________ the government’s record on unemployment, their chances of winning the election look poor.


A) Give



B) Giving



C) Given



D) To give

34. A sacred site might be a mountain that is ________ some significance to a tribe.


A) by



B) with




C) at


D) of 

35. He said it was important that every member _________ his subscription by the end of the month.


A) sent


B) send



 C) had sent

D) would sent

36. Worrying about the business has turned her into a nervous _________ .


A) ritual 



B) wreck


C) spectacle 


D) theory


37. From the top of the hill you can get a beautiful _________ of the entire park.


A) profit

  B) perspective

C) prospective


D) position

38. Only in a few countries ________ a reasonable standard of living.

A) does the whole of the population enjoy

B) the whole of the population do enjoy

C) the whole of the population enjoys

D) the whole of the population enjoy

39. If it ________ , I’d have gone for a walk. 

A) Hadn’t rained


B) didn’t rain 

C) Wouldn’t have rained
   D) wasn’t raining

40. Insurance statistics show that most wives ________ their husbands.


A) Engage


B) inspect

C) survey



D) survive 

41. It is incredible that the 12-year-old managed to even reach the pedals, ________ drive the car.

A) let alone


B) may well


C) all but

     D)along with

42. There exists the eternal struggle between good and ________ forces in the moral universe.


A) corrupt



B) evil


C) wicked


D) foolish

43. Old people are extremely reluctant to buy on ________ and likely to save as much money as possible.


A) bill



B) debt



C) credit



D) check

44. I’d rather you _______ anything about this to anyone, please. 

A) don’t say


B) hadn’t said
      C) didn’t say


D) won’t say 

45. Oh no! Look at all the water on the floor. A pipe _________ while we were away. 

A) would have burst    
     B) should have burst 

C) should burs               D) must have burst t

Section B

Directions: Complete each of the following sentences with the proper form of the word derived from the one in brackets.

Example 1: Tom does not have a job. He is _____________. (job)

   Answer: jobless
Example 2: It is _____________ to talk with one’s mouth full of food. (polite)

   Answer: impolite

46. There has been an increasing ________ (aware) that many people are affected by crime. 

47. He recalled the ________ (breath) excitement of early 1988, when hundreds and thousands of citizens gathered nightly for political meetings.  

48. They were on their way to the Shropshire Union Canal when their car was involved in a _________ (collide) with a van. 

49. Only half of the young birds may live to ________ (mature). 

50.The dog shook itself __________ (vigor), scattering drops of water everywhere. 

51. These figures gives a ________ (distort) view of the significance for the local economy. 

52. We should be worried about our children’s ________ (expose) to violence on television. 

53. ________ (employ) is so damaging to both individuals and to communities. 

54. Social science is a _________ (collect) name, covering a series of individual sciences.

55. He didn’t want to tell Mr Morrison why he was  ______ (patient) to get home. 

Section C

Directions: Complete the following sentences with the appropriate forms of words or phrases according to the meanings of the expressions given in Chinese in brackets.

56. The world will be different, and we will have to be prepared to _______ (适应) to the change. 

57. She left a short __________ (不涉及个人感情的) note, saying that she was leaving. 
58. I closed my eyes for a minute and must have ________ (打盹).
59. Every visitor to Georgia is overwhelmed by the kindness, charm and _______ (好客)of the people. 
60.The talk took place _________ (有…在场)of a diplomatic observer. 

61. It is not an idea around which the Community can unite. _______ (正相反), I see it as one that will divide us. 
62. The less you rely on pain killers now, the better it will be for your health ________ (从长远来看). 

63. The company will spend $6 million on the development of new products and sales ________ (策略). 

64. Only one man tried to help us; the rest just _______ (旁观) in silence. 

65. I have had got very little help from the doctors and no ________ (同情) whatsoever. 

Part  III     Guided Writing 

(30 minutes, 15 marks)

Directions: Recently Internet surfing becomes very popular. Write a short essay of about 150 words on this topic. You should base your composition on the outline given below:
         Surfing on the Internet brings a lot of pleasure beside information.

         Young children should not spend too much time surfing on the Internet.

         Give reasons.

《 大学英语1》复习题C
Part I  Reading Comprehension 40%

Directions: Read the following passages and choose the best answer to each of the questions following the passage.

Questions 1 to 5 are based on the following passage:

　　The good news about Britain’s National Health Service (NHS) is that it gives free medical help to everyone who needs it. Sick people don’t have to pay to see the doctor, or to stay in hospital, and they only pay part of the cost of their medicines. The bad news is that the NHS is always running out of money. The British government spends even less on health than the American government. And in the USA sick people also have to pay every time they see a doctor. The NHS has been admired and enjoyed by British people since 1946 when it started. The idea then was to look after people “from the cradle to the grave”. Free medicine was part of the “welfare state”, which gave free education to the young, money to the unemployed, and pensions to the old.　　

Slowly, as the years pass, problems have grown up. Governments are finding that the bills are getting bigger and bigger. In 1982, £14,000 million was spent on health. One reason for this is that there are many more old people now than there were in 1946. Forty percent of NHS money goes to looking after the old. Some people say that the NHS is a luxury Britain can not afford. They want to bring back more private medicine, for which people would pay. Free medicine, they say, should be given only to the poor. Other people, including many doctors, disagree. Everyone, they say, has the right to the same medical help. In a two-part system, the rich would always get the best. This would not be fair. People also disagree about how NHS money should be spent. Should £15,000 be spent on each heart transplant operation, when there are not enough beds for thousands of old people in pain? Should abortions be paid for by the NHS? Should more money be spent on the mentally ill? Shouldn’t doctors and nurses be better paid?　　

The questions go on and on—but so does the NHS. And millions of British people are thankful that it’s there. 

1. In Britain sick people have to pay some money to__________.
   A. see a doctor
   B. stay in a hospital
   C. get some medicine
   D. have an operation

2. In Britain more money is spent on health than before because__________.
   A. more people get ill
   B. there are more old people
   C. medicines become more expensive
   D. doctors and nurses are better paid

3. Some people want to have more private medicine in Britain because they__________.

   A. don’t trust the NHS
   B. want better medical treatment
   C. don’t think Britain can afford free medicine for all
   D. believe that everyone has the right to medical help

4. What is the biggest problem the NHS is facing?
   A. Shortage of money. 
   B. Criticisms from the people.
   C. Arguments about its function. 
   D. Pressure from the government.

5. Which of the following is a controversial issue concerning the NHS?

   A. Whether it’s necessary or not to provide beds for old people in pain.

   B. Whether there should be free medical care for the mentally ill.

   C. Whether people should ever be cared for from birth to death.

   D. Whether money should be spent on more critical cases.

Questions 6 to 10 are based on the following passage:

In some ways the employment interview is like a persuasive speech because the applicant (interviewee) seeks to persuade the employer (interviewer) to employ him or her. Several suggestions might prove helpful to the applicant when he or she is preparing for the actual interview.
A job applicant should gather certain types of information before the interview. First, the applicant should know what kind of job he wants and how that job relates to his career objective. It is important that the applicant be able to state why he wishes to work for a particular company. Second, the applicant should seek as much information as possible concerning the company, such as the location, the financial situation of the company, plans for expansion, and company philosophy. Information about most big corporations is available in reference books and periodicals. 
After gathering information concerning the company, the applicant is ready for the interview. The interviewer’s first impression comes from the interviewee’s appearance. For most interviews, the appropriate dress for a man is a conservative(保守的) dark colored suit with a long sleeve white or light blue shirt and conservative tie. 

Although hairstyle and dress are matters of personal taste, many personnel directors get first impressions from these characteristics. For example, one recent college graduate, who felt himself qualified, interviewed for a public relations job. However, the personnel manager considered this young man’s long hair, sloppy dress, and overly casual manner unsuited for this particular position.　
6. For whom is the passage most likely written? 

   A. An employee. 
C. An interviewee.

   B. An employer. 
D. An interviewer.
7. As the author suggests, what the applicant should know before the interview is _____. 

   A .the type of work he wants and his career expectation 

   B. his career objective a particular company will decide 

   C. the reasons why a particular company wants to employ him 

   D. all of the above　　　　　　　　　 
8. Before the interview, the applicant should obtain some information about _____. 

   A. most big corporations 

   B. the company he wants to work for 

   C. reference books and periodicals 

   D. business and philosophy
9. What the applicant wears, as the author suggests, can make him become _____. 

   A. expressive 
C. informative

   B. impressive 
D. conservative

10. What does the passage tell us through the example in the last paragraph? 

   A. The importance of personal taste. 

   B. The importance of public relations.

   C. The importance of self-confidence. 

   D. The importance of a first impression. 
Questions 11 to 15 are based on the following passage:

Thirty years ago, when they were both very young, Romina’s sister Delise contracted a rare form of cancer. Doctors were unable to save Delise and she died at the tender age of five. Years later Romina named her own daughter Delise in memory of her late sister. But neither Grandmother, Maria, nor Romina realized then that Delise, would develop the same rare cancer as her aunt when she was ten years old.

The cancer affected Delise’s kidneys. She had already had eight operations, had lost both kidneys and had to undergo painful nightly dialysis (透析). Unable to sleep properly through her nightly suffering she had become tired and weak. At school she had to have different foods from the other kids, and couldn’t eat potato chips, chocolate or even bananas. In winter she got colder than her friends and couldn’t play outside.

But Delise had a chance to live without the dialysis machine. Having waited two years after the treatment for her cancer she was strong enough for a kidney transplant. Romina herself held the key. Although she couldn’t save her sister, doctors thought she might be able to help her daughter. She would donate a kidney to Delise. Delise’s dad came over for the operation as mother and daughter were taken to separate hospitals. This would be Delise’s first operation away from her mum. If the operation was not a success she faced a lifetime of dialysis. As Grandma waited nervously, the surgeons removed Romina’s kidney in the operating theatre, packed it carefully, and drove it across town to her daughter. Four days later, it was so great to know that Delise finally was free of her dialysis machine and able to live the life her aunt was denied.
11. Why did Romina name her own daughter Delise?
   A. Because the name could bring her back to her childhood and she liked it very much.

   B. Because the grandmother wanted to do so in memory of her dead daughter.
   C. Because the name meant a new life.
   D. Because it was the name of her late sister.
12. What was Delise’s condition before she had the kidney transplant?
   A. She couldn’t eat chocolate.
   B. She had already had ten operations.
   C. She had lost one kidney.
   D. She couldn’t play outside all the time.
13. How old was she when Delise had the kidney transplanted?
   A. 10.
C. 12.
   B. 11. 
D. 13.
14. Who would donate a kidney to Delise?
   A. Her father. 
C. Her aunt.
   B. Her mother. 
D. Her grandmother.
15. Which of the following statements is true about Delise’s operation? 
   A . Even if it was a success, she faced a lifetime of dialysis.
   B. She underwent the operation with the care of her father.
   C. Its success enabled her to live a different life than her aunt did.
   D. She stayed with her mother during the whole process.

Questions 16-20 are based on the following passage. Answer the questions in your own words as briefly as possible.

I am not a computer expert. I have been in the field for only a short time. I never learned much in the way of science or math. And I am quite puzzled by things like engineering or electronics.

Then why am I able to write about computers? I can write on this subject because of these shortcomings. The last two years of learning have been an ordeal (考验) for me. By hard work I have managed to learn enough to use computers fairly well, and to work with people who know a great deal more than I. Since I have learned all this at such personal cost, I would like to share my knowledge with others. More and more people want to know about computers, and want to know quickly.

The best way to learn is to take a course. However, many people do not have the time for this. They will have to find some other ways to get some basic information. I hope to be able to help them by writing about some of the things I have learned myself.

I have a home computer on which I’ve learned in my own time. I have used it like a home study course. I have sat down with it day after day, night after night. I have forced it to give up some of its secrets. Now I can use it to do some of the work that I get paid for. 

Some things about computers are easier than you may think. First, computers are logical. Things that at first seem difficult will make sense to you after you learn the rules. Second, it is really not hard to learn enough to use today’s machines. You do not need to be a great brain. But you do have to learn to think in new ways. And you do have to keep a good bit of information in your head. Finally, there are many people around who are really enthusiastic about computers. These people are always happy to be of help.

16. What are the subjects the author is poor at? 
____________ ___________ _________ _________ ___________ __________ __________
  __________ __________ ________.

17. What’s the author’s purpose of writing the article?

____________ ___________ _________ _________ ___________ __________ __________ 
__________ __________ ________.

18. What do people think of computers when they first begin to learn to use them?

  ____________ ___________ _________ _________ ___________ __________ __________
  __________ __________ ________.

19. According to the author, to learn to use the computer requires ____________ ___________
________ _________ ___________ __________ __________ __________ __________
________.

20. According to the author, who can you turn to for help when learning the computer?

  ____________ ___________ _________ _________ ___________ __________ __________
__________ __________ __________.

Part II
 Vocabulary and Structure 45%

Section A 

Directions: There are 30 incomplete sentences in this part. For each sentence there are four choices marked A, B, C and D. Choose the one answer that best completes the sentence.

21. Unable to engage in many activities, the old man still tried to _________ in some way.

   A. enlarge






    C. involve

   B. participate






D. join

22. Campaigns to stop the spread of SARS must continue to be _________ at the whole population. 
   A. controlled   





C. specialized
   B. goaled  






D. targeted
23. Please see to it _________ no one comes in without identification.  
   A. when   






C. that
   B. lest







D. which
24. Whose turn is it to ________ the children after school?

   A. call for                             C. pick up

   B. go against                          D. slip into

25. Many a famous pop star ________ruined by drugs.

   A. have
C. has

   B. have been
D. has been

26. I suggested ________ the matter to the meeting to hear what they’ve got to say.

A. putting
C. to put

B. being put
D. to be put

27.  It’s time someone made him ________ of the effects of his actions.

A. unconscious
C. aware

B. assured
D. thoughtful

28.  He didn’t know anyone at the wedding ________ than the bride and groom.

A. other
C. more

B. except
D. rather

29.  Since our research so far has not produced any answers to this problem, we need to adopt a different ________ to it.

A. way
C. means

B. method
D. approach

30.  How much time do you ________ yourself to get ready in the morning?

A. allow
C. reserve

B. stretch
D. guarantee

31.  I’d like to ________ this old car for a new model but I can’t afford it.

A. represent
C. exchange

B. abandon
D. overlook

32.  The __________ of life in the village was slow and restful. 

A. way

C. pace


B. step

D. routine

33.  Is he           to clean the outside of the window or only the inside?

A. associated






C. supposed
B. related   






D. distressing

34. The poor father tried to explain to his children that they couldn’t afford such          as expensive toy cars and dolls.

A. luxuries






C. money

B. wealth 






D. wastes

35. I’m sure your suggestions will          the problem.

   A. contribute to solving




B. contribute to solve

   C. be contributed to solving



D. be contributed to solve

36. A force 10 wind is           of blowing the roofs off houses.

A. ashamed





    C. envious
B. capable






    D. likely

37. No one can function properly if they are           of adequate sleep.

A. stemmed





    C. derived
B. deprived





    D. subjected

38. You can’t see well through a telescope without correctly         it to your sight.

A. balancing





    C. punching
B. adjusting





    D. urging

39. Please           your reservations 48 hours in advance.

A. confirm





        C. concern
B. commit






    D. continue

40. I couldn’t get through the gate because your car was           .

A. in a way





    C. on the way
B. in the way





    D. by the way

41. His reputation for carelessness was            long before the latest problems arose.

A. generated





    C. defined
B. attributed





    D. established

42. The child pulled the trigger of an           gun.

A. imaginable





    C. imaginary
B. imaginative





    D. immeasurable

43.
Albert Einstein seldom wore strange clothes, _________ a cruel man.

A. nor is he
C. so is he

B. nor was he 
D. so was he

44. If he ________ on tourists for his business, he would have closed his shop. 

A. depends
C. has depended

B. depended
D. had depended
45.  _________ mistakes and weaknesses, it did a great deal of good work inside the trade union.

A. No matter what  
C. Although
B. In spite
D. Despite
46. Words play an important _________ in your everyday life. 

A. character 
C. role
B. position 
D. duty 

47. He had been miraculously _________ of his illness.

A. treated 
C. healed

B. examined 
D. prescribed
48. When he lost his job, he ________ into debt.

A. came
C. walked

B. went
D. took

49. If any of these symptoms ________ while you are taking the medicine, consult your doctor immediately.

A. establish
C. perform

B. represent
D. occur

50. Mr. Wang ________ now for the light in his office is still on. 

A. may be working
C. must have been working

B. must be working
                   D. may have been working
Part III 5%

Directions: Complete each of the following sentences with the proper form of the word derived from the one given in brackets.

51. The essay is a proof of his ________ of using the right word at the right place. (capable)

52. He was ________ enough to understand my question from the gestures I made. (intelligence)

53. I offered him a drink and he ________ with a smile. (response)

54. At the most, he will experience feelings of ________, shame, insecurity, and helplessness. (anxious)

55. When the children grew up, they all slept ________. (separate)

56. If you ________ with him, he’s liable to get angry. (agree)

57. This book is abridged from the ________ work. (origin)

58. ________ science continues to progress in our country. (medicine)
59. Because radio ________ had failed once before, I was afraid the men in the plane might lose touch with the crew on the platform. (communicate)
60. Mary is very ________ to what people think of her. (sense)

Part IV 10%
Directions: Complete the following sentences with the appropriate forms of words according to the meanings of the expressions given in Chinese in brackets.
61. As a nursery teacher, you mustn’t be ________（不耐烦）with the children.
62. It is a ________ (传统) that the young look after the old in their family.
63. The patient ________ (反应) rapidly to the treatment.

64. When I began to sing, he laughed and made me ________ (窘迫).
65. When you go to the doctor, you’d like to come away with a ________ (药方).

66. All three children have ________ (平等) in our family—they are all treated in the same way.
67. She left the room angry and ________ (失望).

68. Half the world’s population is living in ________ (贫困).

69. I found the film we saw last week most ________ (有教育意义的).

70. Doctors are ________ (悲观的) about his chances of making a full recovery.

Part V
  Guided Writing

Directions: Nowadays gift sending is very popular. Write a short essay of about 150 words on this topic. You should base your composition on the information given below:
1. Gift sending is now very popular.

2. The advantages and disadvantages of gift sending.
2

